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10.3 WS Similar Triangles

State if the triangles in each pair are similar. If so, state how you know they are similar.
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9) s In the diagram below, AB is parallel to DE. AB=20 inches, DE=12 inches, and BC=15 inches. What is the length of DC?

A. 25 in, A—20 s B A CRAVvOCDE
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10) In triangle STR , QP and TR are parallel. DC.12 =15 20 -2

If SQ = 6 units, QT = 24 units, and the perimeter of triangle SQP is 20 units, what is the perimeter of tnangle STR ?
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11) Assuming the two triangles are similar, find the tower's height from the given measurements below
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Solve for x. The triangles in each pair are similar.
15)

13

‘F 12) Find the missing values for the pair of figures.
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13Stephanie casts a shadow of 1.2 m and she is 1.8 m tall. A wind turbine casts a shadow of 10 m at the same time that

Stephanie measured her shadow. Draw a diagram of this situation and then calculate how tall ind turbine is.
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14} To estimate the height of her school’s gym, Nicole sights the top of the gym wall in a mirror that she has placed on the
about 1.8 meters. What is the height of the gym wall?
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ground. The mirror is 3.6 meters from the base of the gym wall. Nicole is standing 0.5 meter from the mirror, and her height is
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